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Section - A

I. Very Short Answer Questions. 
Answer All Questions.
Each Question carries "Two" marks.

10 × 2 = 20 M
1. Length of tangent drawn from (5, 4) to

x2 + y2 + 2ky = 0 is 1 then find the value
of k.

2. For circle x2+y2–10x–10y+25 = 0 find
polar equation drawn from (1, –2).

3. Find angle between circles 
x2+y2–12x– 6y+41 = 0,
x2+y2+4x+6y–59 = 0.

4. Find parabola equation with focus
S (1, –7), vertex A(1, –2).

5. If the eccentricity of  a hyperbola is ,
then find the eccentricity of its conjugate

hyperbola.

6. Evaluate

7. Find

8. Find the  value of

9. Find the value of

10. Find order and degree of 

Section - B

II. Short Answer Questions. 
Answer any "Five" Questions.
Each Question carries "Four" marks.

5 × 4 = 20 M
11. Find the equation of the circle whose

center lies on X-axis and passing

through (–2, 3), (4, 5).
12. Prove that circles s ≡ x2 + y2 – 2x – 4y–

20 = 0 and s' ≡ x2 + y2 + 6x + 2y– 90= 0
touch internally and find point of co-
ntact.

13. For ellipse 4x2 + y2 – 8x + 2y + 1 = 0
find eccentricity, length of Latus rectum,
length of major axis and minor axis.

14. Find the equation of the tangents to the
ellipse 2x2 + y2 = 8 which are  parallel to
x – 2y – 4 = 0.

15. Find the centre, eccentricity, foci, direc-
trix and the length of the Latus rectum of
the hyperbola.
4x2 – 9y2 – 8x – 32 = 0.  

16. Find the value of

17. Solve (x2 + y2)dy = 2xydx.

Section - C

III. Long Answer Questions. 
Answer any "Five" Questions.

Each Question carries"Seven" marks.
5 × 7 = 35 M

18. If (2, 0), (0, 1), (4, 5) and (0, c) are
Concyclic then find c.

19. Find direct common tangent equation
for circles
x2 + y2 + 22x – 4y – 100 = 0, 
x2 + y2 – 22x + 4y + 100 = 0. 

20. Prove that area of triangle formed by
three tangents drawn from (x1, y1), (x2,
y2), (x3, y3) to parabola y2 = 4ax (a > 0) is 

square units.

21. Evaluate

22. Evaluate 

23. Evaluate 

24. Solve 2sin . cot ..+ =dy
x y x

dx
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Ñ¿êVýS… - G
I. A† çÜÓËµ çÜÐ]l*«§é¯]l {ç³Ô¶æ²Ë$. 

A°² {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$…yìl.
{ç³† {ç³Ô¶æ²MýS$ 2 Ð]l*Æý‡$PË$. 10 × 2 = 20 M

1. ¼…§ýl$Ð]l# (5, 4) ¯]l$…_ x2+y2+2ky = 0
Ð]l–™é¢°MìS XíÜ ]̄l çÜµÆý‡ØÆó‡Q ´÷yýlÐ]l# 1 AÆ‡¬™ól k
ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

2. x2+y2–10x –10y+25 = 0 Ð]l–™èl¢… §ýl–ÚëtÅ
(1, –2) {«§ýl$Ð]lÆó‡Q çÜÒ$MýSÆý‡×æ… MýS ]̄l$Vö ]̄l…yìl.

3. x2+y2–12x–6y+41=0, x2+y2+4x+6y–59=0
Ð]l–™é¢Ë Ð]l$«§ýlÅ Mø×æ… MýS ]̄l$Vö ]̄l…yìl.

4. ¯éÀ S(1, –7), ÖÆý‡Û… A(1, –2)V> E ]̄l²
ç³Æ>Ð]lËÄ¶æ$ çÜÒ$MýSÆý‡×æ… MýS ]̄l$Vö ]̄l…yìl.

5. A† ç³Æ>Ð]lËÄ¶æ$… E™ólP…{§ýl… AÆ‡¬™ól

çÜ…Ä¶æ¬VýSÃ A†ç³Æ>Ð]lËÄ¶æ$ E™ólP…{§ýl… G…™èl?

6. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

7. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

8. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

9. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

10.

çÜÒ$MýSÆý‡×æ… {MýSÐ]l$…, ™èlÆý‡VýS† MýS ]̄l$Vö ]̄l…yìl.

Ñ¿êVýS… - ¼

II. çÜÓËµ çÜÐ]l*«§é¯]l {ç³Ô¶æ²Ë$. 
HOÐðl¯é 5 {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$…yìl. 
{ç³† {ç³Ô¶æ²MýS$ 4 Ð]l*Æý‡$PË$. 5 × 4 = 20 M

11. Ð]l–™èl¢ MóS…{§ýl… X-A„ýS…Oò³ E…r* (–2, 3), (4, 5)
¼…§ýl$Ð]l#Ë §éÓÆ> ÐðlâôæÏ Ð]l–™èl¢ çÜÒ$MýSÆý‡×ê°²
MýS¯]l$Vö¯]l…yìl.

12. s ≡ x2 + y2 – 2x – 4y– 20 = 0, 
s' ≡ x2 + y2 + 6x + 2y– 90 = 0 
Ð]l–™é¢Ë$ A…™èlÆý‡…V> çÜµÇØ… è̂l$MýS$…sêÄ¶æ$°

è̂l*ç³…yìl. çÜµÆý‡Ø ¼…§ýl$Ð]l# ]̄l$ MýS ]̄l$Vö ]̄l…yìl.
13. 4x2+y2–8x+2y+1 = 0 ©Æý‡ƒÐ]l–™é¢°MìS ©Æ>ƒ„ýS…,

{çßæÝëÓ„ýS…, ¯éÀ Ë…º…, E™ólP…{§ýl… MýS ]̄l$Vö ]̄l…yìl.
14. 2x2+y2 = 8MýS$ x–2y–4 = 0 Æó‡QMýS$ çÜÐ]l*…™èlÆý‡…-

V> E…yól çÜµÆý‡ØÆó‡Q çÜÒ$MýSÆý‡×æ… MýS ]̄l$Vö ]̄l…yìl.
15. 4x2–9y2–8x–32 = 0  A†ç³Æ>Ð]lËÄ¶æ*°MìS

©Æ>ƒ„ýS…, {çßæÝëÓ„ýS…, ¯éÀ Ë…º…, E™ólP…{§ýl…
MýS¯]l$Vö¯]l…yìl.

16. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

17. (x2 + y2)dy = 2xydx ]̄l$ Ýë«̈ … è̂l…yìl.

Ñ¿êVýS… - íÜ

III. ©Æý‡ƒ çÜÐ]l*«§é¯]l {ç³Ô¶æ²Ë$. 
HOÐðl¯é 5 {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$…yìl. 
{ç³† {ç³Ô¶æ²MýS$ 7 Ð]l*Æý‡$PË$. 5 × 7 = 35 M

18. (2, 0), (0, 1), (4, 5), (0, c)Ë$ è̂l{MîSÄ¶æ*Ë$
AÆ‡¬™ól c ÑË$Ð]l G…™èl?

19. x2+y2+22x–4y–100 = 0, 
x2+y2–22x+4y+100 = 0 
Ð]l–™é¢ËMýS$ EÐ]l$Ãyìl çÜµÆý‡ØÆó‡QË$ MýS ]̄l$Vö ]̄l…yìl.

20. ç³Æ>Ð]lËÄ¶æ$… y2 = 4ax (a > 0)Oò³ (x1, y1), (x2,

y2), (x3, y3) ¼…§ýl$Ð]l#Ë Ð]l§ýlª XíÜ ]̄l çÜµÆý‡ØÆó‡QË™ø
HÆý‡µyól {†¿¶æ$f OÐðlÔ>ËÅ…

^èl.Ä¶æÊ.

A° è̂l*ç³…yìl.

21. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

22. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

23. ÑË$Ð]l MýS ]̄l$Vö ]̄l…yìl.

24. ]̄l$ Ýë«̈ … è̂l…yìl.2sin . cot+ =dy
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